

#### **ABC Bid Data**

WALPOLE, NH - ROCKINGHAM, VT 42277 X-A004(799)

PROJECT: WALPOLE, NH - ROCKINGHAM, VT

Awarded To: CPM CONSTRUCTORS INC

30 BONNEY STREET

**Award Date:** 

FREEPORT, ME 04032

DATE BIDS OPEN: October 22, 2020, 2:00

SCOPE OF WORK: Bridge Preservation efforts on the Church St over Conn River between Walpole, NH to Amount:

\$1,685,986.00 Certified by: PETER.E.STAMNAS

Director of Project Development

Rockingham, Vt

X-A004(799)

COMPLETION DATE: October 29, 2021

LOCATION: Cheshire

**STATE PROJECT NUMBER: 42277** 

FED. PROJECT NUMBER:

#### **Summary of Bidders**

Contractor	<b>Bid Amount</b>	Rank
CPM CONSTRUCTORS INC	\$1,685,986.00	Α
30 BONNEY STREET, PO BOX B, FREEPORT ME 04032		
COLD RIVER BRIDGES LLC	\$2,212,246.00	В

10 LANBRO LANE, 10 Lanbro Lane Unit 2, WALPOLE NH 03608

## **ABC Bid Data**



WALPOLE, NH - ROCKINGHAM, VT 42277 X-A004(799)

				F	PS&E	30 BONN	TRUCTORS INC JEY STREET RT, ME 04032	10 LAN	R BRIDGES LLC BRO LANE E, NH 03608
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

						•	ī		
203.11	COMMON EXCAVATION - LRS	CY	10.00	\$20.00	\$200.00	\$50.00	\$500.00	\$25.00	\$250.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	15.00	\$100.00	\$1,500.00	\$40.00	\$600.00	\$75.00	\$1,125.00
304.301	CRUSHED GRAVEL	CY	20.00	\$35.00	\$700.00	\$110.00	\$2,200.00	\$95.00	\$1,900.00
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	310.00	\$150.00	\$46,500.00	\$220.00	\$68,200.00	\$255.00	\$79,050.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	2.00	\$135.00	\$270.00	\$600.00	\$1,200.00	\$785.00	\$1,570.00
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	5,635.00	\$1.25	\$7,043.75	\$2.00	\$11,270.00	\$2.00	\$11,270.00
403.919	HOT BITUMINOUS BRIDGE PAVEMENT, 1" HIGH STRENGTH BASE COURSE	TON	161.00	\$350.00	\$56,350.00	\$300.00	\$48,300.00	\$305.00	\$49,105.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	10.00	\$300.00	\$3,000.00	\$360.00	\$3,600.00	\$785.00	\$7,850.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	250.00	\$5.00	\$1,250.00	\$12.00	\$3,000.00	\$15.00	\$3,750.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	397.00	\$20.00	\$7,940.00	\$18.00	\$7,146.00	\$30.00	\$11,910.00
502.	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$100,000.00	\$100,000.00	\$112,000.00	\$112,000.00	\$245,000.00	\$245,000.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	30.00	\$30.00	\$900.00	\$40.00	\$1,200.00	\$100.00	\$3,000.00
511.0001	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	2,811.00	\$20.00	\$56,220.00	\$22.00	\$61,842.00	\$55.00	\$154,605.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	640.00	\$400.00	\$256,000.00	\$350.00	\$224,000.00	\$285.00	\$182,400.00
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	120.00	\$600.00	\$72,000.00	\$1,050.00	\$126,000.00	\$485.00	\$58,200.00
512.02	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	5.00	\$800.00	\$4,000.00	\$1,300.00	\$6,500.00	\$3,000.00	\$15,000.00
520.01	CONCRETE CLASS AA	CY	74.00	\$1,200.00	\$88,800.00	\$1,000.00	\$74,000.00	\$325.00	\$24,050.00
520.02	CONCRETE CLASS AA, ABOVE FOOTINGS (F)	CY	39.00	\$1,300.00	\$50,700.00	\$2,200.00	\$85,800.00	\$3,000.00	\$117,000.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	37.00	\$1,500.00	\$55,500.00	\$1,700.00	\$62,900.00	\$650.00	\$24,050.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	96.00	\$90.00	\$8,640.00	\$125.00	\$12,000.00	\$95.00	\$9,120.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	13.00	\$50.00	\$650.00	\$75.00	\$975.00	\$125.00	\$1,625.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	2,812.00	\$25.00	\$70,300.00	\$23.00	\$64,676.00	\$45.00	\$126,540.00
540.511	GALVANIC CORROSION PROTECTION SYSTEM (DISTRIBUTED ANODES)	LF	190.00	\$60.00	\$11,400.00	\$45.00	\$8,550.00	\$65.00	\$12,350.00

### **ABC Bid Data**



WALPOLE, NH - ROCKINGHAM, VT 42277

X-A004(799)

					P\$&E		STRUCTORS INC NEY STREET RT, ME 04032	COLD RIVER BRIDGES LLC 10 LANBRO LANE WALPOLE, NH 03608	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	2,850.00	\$25.00	\$71,250.00	\$21.00	\$59,850.00	\$20.00	\$57,000.00
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	49.00	\$11.00	\$539.00	\$12.00	\$588.00	\$10.00	\$490.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	5,852.00	\$1.30	\$7,607.60	\$3.00	\$17,556.00	\$3.00	\$17,556.00
544.21	REINFORCING STEEL, EPOXY COATED, MECHANICAL CONNECTORS (F)	LB	1,026.00	\$4.75	\$4,873.50	\$6.00	\$6,156.00	\$10.00	\$10,260.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	49.00	\$120.00	\$5,880.00	\$160.00	\$7,840.00	\$200.00	\$9,800.00
561.1001	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	49.00	\$800.00	\$39,200.00	\$860.00	\$42,140.00	\$1,500.00	\$73,500.00
561.3001	PREFABRICATED FINGER EXPANSION JOINT (F)	LF	49.00	\$1,700.00	\$83,300.00	\$2,400.00	\$117,600.00	\$3,000.00	\$147,000.00
562.1	SILICONE JOINT SEALANT (F)	LF	410.00	\$20.00	\$8,200.00	\$13.00	\$5,330.00	\$10.00	\$4,100.00
563.073	ALUMINUM POST ASSEMBLY FOR F RAIL (3-BAR)	EA	6.00	\$400.00	\$2,400.00	\$425.00	\$2,550.00	\$1,000.00	\$6,000.00
563.8	RESETTING BRIDGE RAIL	LF	6.00	\$200.00	\$1,200.00	\$140.00	\$840.00	\$1,000.00	\$6,000.00
565.802	ADJUSTING BRIDGE APPROACH RAIL	U	2.00	\$450.00	\$900.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00
609.5	RESET GRANITE CURB	LF	176.00	\$40.00	\$7,040.00	\$22.00	\$3,872.00	\$50.00	\$8,800.00
615.0201	TRAFFIC SIGN TYPE B	SF	21.00	\$70.00	\$1,470.00	\$50.00	\$1,050.00	\$50.00	\$1,050.00
615.023	REMOVING TRAFFIC SIGN TYPE B	U	2.00	\$70.00	\$140.00	\$43.00	\$86.00	\$100.00	\$200.00
615.0301	TRAFFIC SIGN TYPE C	SF	36.00	\$50.00	\$1,800.00	\$50.00	\$1,800.00	\$50.00	\$1,800.00
615.0501	TRAFFIC SIGN TYPE BB	SF	46.00	\$20.00	\$920.00	\$20.00	\$920.00	\$50.00	\$2,300.00
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	2.00	\$70.00	\$140.00	\$43.00	\$86.00	\$100.00	\$200.00
615.0601	TRAFFIC SIGN TYPE CC	SF	38.00	\$50.00	\$1,900.00	\$20.00	\$760.00	\$50.00	\$1,900.00
616.161	TRAFFIC SIGNALS (TEMPORARY)	U	1.00	\$40,000.00	\$40,000.00	\$55,000.00	\$55,000.00	\$60,000.00	\$60,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
618.7	FLAGGERS	HR	800.00	\$25.00	\$20,000.00	\$45.00	\$36,000.00	\$40.00	\$32,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$48,500.00	\$48,500.00	\$20,000.00	\$20,000.00	\$245,000.00	\$245,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,000.00	\$20,000.00	\$5,000.00	\$20,000.00	\$8,000.00	\$32,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	186.00	\$5.00	\$930.00	\$7.00	\$1,302.00	\$5.00	\$930.00
628.22	SAWED BITUMINOUS PAVEMENT (BRIDGE)	LF	1,284.00	\$5.00	\$6,420.00	\$6.50	\$8,346.00	\$5.00	\$6,420.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	3,250.00	\$0.50	\$1,625.00	\$1.00	\$3,250.00	\$1.00	\$3,250.00

# New Hampshire Department of Transportation

#### **ABC Bid Data**

WALPOLE, NH - ROCKINGHAM, VT 42277 X-A004(799)

CPM CONSTRUCTORS INC COLD RIVER BRIDGES LLC PS&F 10 LANBRO LANE 30 BONNEY STREET FREEPORT. ME 04032 WALPOLE, NH 03608 Item No. Unit Quantity **Unit Price** Total **Unit Price** Total **Unit Price** Total 632.1104 PREFORMED RETROREFLECTIVE TAPE, TYPE I LF 5,570.00 \$4.00 \$22,280.00 \$3.00 \$16,710.00 \$3.00 \$16,710.00 (REMOVABLE) 4" LINE PREFORMED RETROREFLECTIVE TAPE, TYPE I 632.1118 LF 40.00 \$4.00 \$160.00 \$13.00 \$520.00 \$10.00 \$400.00 (REMOVABLE) 18" LINE 632.3108 RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LF 104.00 \$3.00 \$312.00 \$5.00 \$520.00 \$10.00 \$1,040.00 LINE 632.3124 RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LF \$10.00 \$290.00 29.00 \$15.00 \$435.00 \$30.00 \$870.00 LINE 632.931 **BLACKOUT PAVEMENT MARKING LINE, 12" WIDE &** LF 290.00 \$2.50 \$725.00 \$8.00 \$2,320.00 \$15.00 \$4,350.00 UNDER 641. LOAM CY 10.00 \$45.00 \$450.00 \$50.00 \$500.00 \$100.00 \$1,000.00 645.3 **EROSION STONE** TON 100.00 \$35.00 \$3,500.00 \$70.00 \$7,000.00 \$1.00 \$100.00 645.512 COMPOST SOCK FOR PERIMETER BERM LF 100.00 \$5.00 \$500.00 \$7.00 \$700.00 \$10.00 \$1,000.00 670.95 **TEMPORARY SAFETY FENCE** LF 1,400.00 \$4.00 \$5,600.00 \$7.00 \$9,800.00 \$10.00 \$14,000.00 692. \$136,000.00 \$168,000.00 \$215,000.00 MOBILIZATION U 1.00 \$136,000.00 \$168,000.00 \$215,000.00 697.31 PROJECT OPERATIONS PLAN U 1.00 \$4,000.00 \$4.000.00 \$6,000.00 \$6,000.00 \$5,000.00 \$5,000.00 698.12 FIELD OFFICE TYPE B MON 8.00 \$1,300.00 \$10,400.00 \$1,700.00 \$13,600.00 \$3,000.00 \$24,000.00 699. MISCELLANEOUS TEMPORARY EROSION AND 10,000.00 \$1.00 \$10,000.00 \$1.00 \$10,000.00 \$1.00 \$10,000.00 SEDIMENT CONTROL 1002.1 REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE 5,000.00 \$1.00 \$5,000.00 \$1.00 \$5,000.00 \$1.00 \$5,000.00 **STRUCTURES** 1008.251 ALTERATIONS AND ADDITIONS AS NEEDED -2.500.00 \$1.00 \$2,500.00 \$1.00 \$2,500,00 \$1.00 \$2,500.00 **TEMPORARY PEDESTRIAN ACCOMMODATIONS** 1010.15 **FUEL ADJUSTMENT** 20,000.00 \$1.00 \$20,000.00 \$1.00 \$20,000.00 \$1.00 \$20,000.00

Totals: \$1,517,815.85 \$1,685,986.00 \$2,212,246.00

Alt. Totals: \$1,517,815.85 \$1,685,986.00 \$2,212,246.00



WALPOLE, NH - ROCKINGHAM, VT 42277 X-A004(799)

	_			A-Bid	der	PS8	kΕ		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference	
Items									
203.11	COMMON EXCAVATION - LRS	CY	10.00	\$50.00	\$500.00	\$20.00	\$200.00	\$300.00	
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	15.00	\$40.00	\$600.00	\$100.00	\$1,500.00	(\$900.00)	
304.301	CRUSHED GRAVEL	CY	20.00	\$110.00	\$2,200.00	\$35.00	\$700.00	\$1,500.00	
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	310.00	\$220.00	\$68,200.00	\$150.00	\$46,500.00	\$21,700.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	2.00	\$600.00	\$1,200.00	\$135.00	\$270.00	\$930.00	
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	5,635.00	\$2.00	\$11,270.00	\$1.25	\$7,043.75	\$4,226.25	
403.919	HOT BITUMINOUS BRIDGE PAVEMENT, 1" HIGH STRENGTH BASE COURSE	TON	161.00	\$300.00	\$48,300.00	\$350.00	\$56,350.00	(\$8,050.00)	
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	10.00	\$360.00	\$3,600.00	\$300.00	\$3,000.00	\$600.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	250.00	\$12.00	\$3,000.00	\$5.00	\$1,250.00	\$1,750.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	397.00	\$18.00	\$7,146.00	\$20.00	\$7,940.00	(\$794.00)	
502.	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$112,000.00	\$112,000.00	\$100,000.00	\$100,000.00	\$12,000.00	
504.1	COMMON BRIDGE EXCAVATION (F)	CY	30.00	\$40.00	\$1,200.00	\$30.00	\$900.00	\$300.00	
511.0001	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	2,811.00	\$22.00	\$61,842.00	\$20.00	\$56,220.00	\$5,622.00	
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	640.00	\$350.00	\$224,000.00	\$400.00	\$256,000.00	(\$32,000.00)	

Thursday, November 5, 2020 Page 5 of 9



WALPOLE, NH - ROCKINGHAM, VT 42277 X-A004(799)

				A-Bid	der	PS8	ξΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	120.00	\$1,050.00	\$126,000.00	\$600.00	\$72,000.00	\$54,000.00
512.02	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	5.00	\$1,300.00	\$6,500.00	\$800.00	\$4,000.00	\$2,500.00
520.01	CONCRETE CLASS AA	CY	74.00	\$1,000.00	\$74,000.00	\$1,200.00	\$88,800.00	(\$14,800.00)
520.02	CONCRETE CLASS AA, ABOVE FOOTINGS (F)	CY	39.00	\$2,200.00	\$85,800.00	\$1,300.00	\$50,700.00	\$35,100.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	37.00	\$1,700.00	\$62,900.00	\$1,500.00	\$55,500.00	\$7,400.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	96.00	\$125.00	\$12,000.00	\$90.00	\$8,640.00	\$3,360.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	13.00	\$75.00	\$975.00	\$50.00	\$650.00	\$325.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	2,812.00	\$23.00	\$64,676.00	\$25.00	\$70,300.00	(\$5,624.00)
540.511	GALVANIC CORROSION PROTECTION SYSTEM (DISTRIBUTED ANODES)	LF	190.00	\$45.00	\$8,550.00	\$60.00	\$11,400.00	(\$2,850.00)
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	2,850.00	\$21.00	\$59,850.00	\$25.00	\$71,250.00	(\$11,400.00)
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	49.00	\$12.00	\$588.00	\$11.00	\$539.00	\$49.00
544.2	REINFORCING STEEL, EPOXY COATED (F)	LB	5,852.00	\$3.00	\$17,556.00	\$1.30	\$7,607.60	\$9,948.40
544.21	REINFORCING STEEL, EPOXY COATED, MECHANICAL CONNECTORS (F)	LB	1,026.00	\$6.00	\$6,156.00	\$4.75	\$4,873.50	\$1,282.50
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	49.00	\$160.00	\$7,840.00	\$120.00	\$5,880.00	\$1,960.00
561.1001	PREFABRICATED STRIP SEAL EXPANSION JOINT (F)	LF	49.00	\$860.00	\$42,140.00	\$800.00	\$39,200.00	\$2,940.00

Thursday, November 5, 2020 Page 6 of 9



WALPOLE, NH - ROCKINGHAM, VT 42277 X-A004(799)

				A-Bide	der	PS8	ķЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
561.3001	PREFABRICATED FINGER EXPANSION JOINT (F)	LF	49.00	\$2,400.00	\$117,600.00	\$1,700.00	\$83,300.00	\$34,300.00
562.1	SILICONE JOINT SEALANT (F)	LF	410.00	\$13.00	\$5,330.00	\$20.00	\$8,200.00	(\$2,870.00)
563.073	ALUMINUM POST ASSEMBLY FOR F RAIL (3-BAR)	EA	6.00	\$425.00	\$2,550.00	\$400.00	\$2,400.00	\$150.00
563.8	RESETTING BRIDGE RAIL	LF	6.00	\$140.00	\$840.00	\$200.00	\$1,200.00	(\$360.00)
565.802	ADJUSTING BRIDGE APPROACH RAIL	U	2.00	\$1,500.00	\$3,000.00	\$450.00	\$900.00	\$2,100.00
609.5	RESET GRANITE CURB	LF	176.00	\$22.00	\$3,872.00	\$40.00	\$7,040.00	(\$3,168.00)
615.0201	TRAFFIC SIGN TYPE B	SF	21.00	\$50.00	\$1,050.00	\$70.00	\$1,470.00	(\$420.00)
615.023	REMOVING TRAFFIC SIGN TYPE B	U	2.00	\$43.00	\$86.00	\$70.00	\$140.00	(\$54.00)
615.0301	TRAFFIC SIGN TYPE C	SF	36.00	\$50.00	\$1,800.00	\$50.00	\$1,800.00	\$0.00
615.0501	TRAFFIC SIGN TYPE BB	SF	46.00	\$20.00	\$920.00	\$20.00	\$920.00	\$0.00
615.053	REMOVING TRAFFIC SIGN TYPE BB	U	2.00	\$43.00	\$86.00	\$70.00	\$140.00	(\$54.00)
615.0601	TRAFFIC SIGN TYPE CC	SF	38.00	\$20.00	\$760.00	\$50.00	\$1,900.00	(\$1,140.00)
616.161	TRAFFIC SIGNALS (TEMPORARY)	U	1.00	\$55,000.00	\$55,000.00	\$40,000.00	\$40,000.00	\$15,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
618.7	FLAGGERS	HR	800.00	\$45.00	\$36,000.00	\$25.00	\$20,000.00	\$16,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$20,000.00	\$20,000.00	\$48,500.00	\$48,500.00	(\$28,500.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,000.00	\$20,000.00	\$5,000.00	\$20,000.00	\$0.00

Thursday, November 5, 2020 Page 7 of 9



WALPOLE, NH - ROCKINGHAM, VT 42277 X-A004(799)

				A-Bide	der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
628.2	SAWED BITUMINOUS PAVEMENT	LF	186.00	\$7.00	\$1,302.00	\$5.00	\$930.00	\$372.00
628.22	SAWED BITUMINOUS PAVEMENT (BRIDGE)	LF	1,284.00	\$6.50	\$8,346.00	\$5.00	\$6,420.00	\$1,926.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	3,250.00	\$1.00	\$3,250.00	\$0.50	\$1,625.00	\$1,625.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		5,570.00	\$3.00	\$16,710.00	\$4.00	\$22,280.00	(\$5,570.00)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	40.00	\$13.00	\$520.00	\$4.00	\$160.00	\$360.00
632.3108	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 8" LINE	LF	104.00	\$5.00	\$520.00	\$3.00	\$312.00	\$208.00
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	29.00	\$15.00	\$435.00	\$10.00	\$290.00	\$145.00
632.931	BLACKOUT PAVEMENT MARKING LINE, 12" WIDE & UNDER	LF	290.00	\$8.00	\$2,320.00	\$2.50	\$725.00	\$1,595.00
641.	LOAM	CY	10.00	\$50.00	\$500.00	\$45.00	\$450.00	\$50.00
645.3	EROSION STONE	TON	100.00	\$70.00	\$7,000.00	\$35.00	\$3,500.00	\$3,500.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	100.00	\$7.00	\$700.00	\$5.00	\$500.00	\$200.00
670.95	TEMPORARY SAFETY FENCE	LF	1,400.00	\$7.00	\$9,800.00	\$4.00	\$5,600.00	\$4,200.00
692.	MOBILIZATION	U	1.00	\$168,000.00	\$168,000.00	\$136,000.00	\$136,000.00	\$32,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$2,000.00
698.12	FIELD OFFICE TYPE B	MON	8.00	\$1,700.00	\$13,600.00	\$1,300.00	\$10,400.00	\$3,200.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00

Thursday, November 5, 2020 Page 8 of 9



WALPOLE, NH - ROCKINGHAM, VT 42277 X-A004(799)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00

**Total:** \$1,685,986.00 \$1,517,815.85 \$168,170.15

Thursday, November 5, 2020 Page 9 of 9